
TM

SERVICE INSTRUCTIONS
Oil-Heater Kits and

Strip Heaters

STRIP
MODEL HEATER VOLTAGE WATTS

383807-A4 383837-1 120 VAC 350 Watts

383807-B4 383837-2 240 VAC 350 Watts

383807-A4
383807-B4
383837-1
383837-2

383807-A4/B4 Kit Contents

                 Item No. Description                                                                             Qty.

18600 ....................... Pan-Head Tapping Screw, #10 x 3/8" long ........................................... 4
61086 ....................... Lock Washer, #10 Helical Spring type .................................................. 2
76784 ....................... Hex Nut, 6-32 ........................................................................................ 2
76895 ....................... Lock Washer, #6 ................................................................................... 2
170317 ..................... Pan-Head Machine Screw, 10-32 x 3/4" long ....................................... 2
338383 ..................... Faston Receptacle ................................................................................ 1
383837-1 .................. Strip Heater, 120 VAC (383807-A4) ...................................................... 1
383837-2 .................. Strip Heater, 240 VAC (383807-B4) ...................................................... 1
383839-2 .................. Cover Plate, 4-1/2" x 10-1/2" ................................................................. 1
383840 ..................... Bracket .................................................................................................. 2
385376 ..................... Thermostat Bracket, 1" x 3-3/4" ............................................................ 1
385385 ..................... Heater Thermostat ................................................................................ 1
385387 ..................... Jumper Wire Assembly ......................................................................... 1
403650 ..................... Terminal ................................................................................................ 1

✚
✚
✚
✚
✚
✚

✚
✚

✚
✚

✚  Not available as a separate purchased part

DESCRIPTION

Used on Modular Oil Mist Generators, these Oil
Heaters maintain optimum temperature
(approximately 100°F) for proper misting at ambient
temperatures down to 40° F. A nonadjustable
thermostat automatically controls temperature,
opening at 115°F ± 5°. For power requirements, see
Table 1.

Table 1:

INSTALLATION

CAUTION:  Shut off or disconnect electrical supply
before installing or servicing Heater.

A. Mounting Strip Heater

1. Mount the two bracket assemblies 383840 loosely
using two slotted machine screws 170317 and two
large lockwashers 61086 (Figure 2).

2. Position Strip Heater 383837-1 or 383837-2 under
brackets with flat side of heater against reservoir
bottom (Figure 1).

3. Tighten screws on bracket assemblies to hold
Strip Heater securely against reservoir.

B. Mounting Thermostat

1. Insert terminal end of thermostat 385385 into
thermostat bracket 385376.

2. Mount flat side of thermostat bracket onto studs in
bottom of reservoir and fasten in place using two hex
nuts 76784 and two small lockwashers 76895.

C. Electrical Connections

1. Connect jumper wire assembly 385387 to terminal
No. 16 on Strip Heater and one of the thermostat
terminals.

2. Run electrical supply lines through the 7/8"
opening on left side of mist unit and affix receptacle
338383 to “hot” wire. Slip receptacle onto the other
thermostat terminal.

Alemite Corporation
PO Box 473515, Charlotte, North Carolina 28247-3515 SER 383807 (1-94)397102



SER 383807-A4

page 2 page revised 1-94

3. Attach terminal 403650 to neutral wire and
connect it to terminal No. 1 of Heater Strip.

4. Install cover 383839-2 over bottom of reservoir
with four tapping screws 18600.

SERVICE

CAUTION:  Shut off or disconnect the electrical
supply before servicing heater.

If Strip Heater fails to heat.

1. Check service outlet.

2. Check for continuity across terminals of

Figure 1:  Oil Heater Kit Installed Under Oil Mist Unit

Thermostat.

3. Check for continuity across terminals of Strip
Heater.

IMPORTANT:  When ordering replacement for
383842-2 Thermostat, used on early models of
383807 Series Oil Heater Kits, order Service Kit
393131 consisting of the following items:

(1) 385376 Thermostat Bracket

(1) 385385 Thermostat

(2) 338383 Faston Receptacles

CHANGES SINCE LAST PRINTING

Changed:  338383 was 428133

Figure 2:  Mounting the Heater

▼

61086 (2)
170317 (2)

▲

▼

▼

383840 (2)

18600 (4)

383839-2

Electrical Supply Wires
Not Included.

385376 385385

403650 385387383837-1
383837-2

338383

▲

383840 (2)

(2) 76895

76784 (2)


